
《简易方程（七）》学程拓展 

 

1. 在下面的式子中                          是方程。（填序号） 
①a－15               ②9.8＋0.2＝10            ③80＋   ＝120  

④5y＝35              ⑤n＋17＞27               ⑥36－x＝9×3 

⑦6x＋    ＝78        ⑧36＋    ＝42            ⑨3÷b   

 

2. 根据方程 3x＋5＝20，结合生活实际编一道题。 

 

                                                                                      

                                                                                      

                                                                                       

                                                                                        

                                                                                        

                                                                                       

                                                                                        


